
Simplify.

123. \/8-,A n4. \E-,[+ ns. sr[ts.,A
(1r-8)

ne. zt/ot + zt/n - \/3s tzt. t/tn - \/no + Vs00

t r. ,rfr* o\€ - +\/d t2s. tt/i<t/ts - zt/it
Simplify. (rl-9)
r3o. (s - V:lfs + l, rtt. ({1 + q$/j - ol
ttz. $/e - , s>r{o + V5) 133. (4 + t/i12
r34. (5 - {5), ns. Gt/1- +),
tso. (Vrr + zt/i), l:it. ztfo6rt - q.V:l
rrs. (+V5 - oyzr/1 + t1 tto. 1z.r/u + zt/ 6t/t4, + ttfi)
Rationalize the denominator of each fraction. (rr-9)

tm. -l- ut. 2 * 4z+t/t -"'r-Vs

Solve. (rr_10)

rtz.t/i:t w. le.:] ru.rt-S:4
14s.++6:l l*.G:u r4t.t/n-2:g
ttt.+t/x:t leg.\/r+2:5 tso.y/a1r-5+l:8
ttt. 1p - 3 : -2 152. ,[t'l-:3 rsr. sV; : z+{i

Ghaptet 12
Solve. Express irrational solutions in simptest radical form. If the equation (12-t)
has no solution, write '.no solution."
t)25l.m':ft 2.5a2:60 3.w2+52:O
4. xz - 108 = 0 S. 7u2 - ll2:0 6. 4c2 + 7 :23
7.3P-12:-3 8.2n2+9:4 9.e+5)2:16

r0. (z - 5)2 : o rl. 3(k + 4)2 : g1 12. 4(f- l)2 : 6O
13. 2(h + l's2 : 42 14. (2x + 3)2 : 196 15. 7(3y - 1)2 : 168
16. e2 -t 6e i g: u 17. a2 - l2a * 36:49 lg. m2 r lgm* gl : 36
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Solve by completing the square. Give irrational roots in simplest form and (12-2)
then approximate them to the nearest tenth.

19. x2+ 16.r: -15 20. y' -8y+7:0 21. n2-lLn-202:8
22. 4a2 r loa: 12 23. bz - 3b: 5 24. 3c2 * 6c - 1233:0

Solve the equations by (a) completing the square and (b) factoring. (12-2)

25. e2 - lOe * 2t:o 26. 4fz - l8/: l0 27. 6hz +9h- 42:0

Solve. Write irrational roots in simplest radical form. (12-2)

,s.+-2m:i 2t.nz+!:s 30.i-|:z
Use the quadratic formula to solve each equation. Give irrational roots in (12-3)

simplest radical form and then approximate them to the nearest tenth.

31.22+72+3:0 32.w2+8w-4:0 33.2u2-l0r-6:0
34. 5y2 : _9y - | 35. 3k2 + 2: 5k 36. 6m:3 - 2m2

37. x2 * 0.3x - 0.2:0 38. nz + 1^ - tr: o st. tf - |t: t

Write the value of the discriminant of each equation. Then use it to decide (12-4)

how many different real-number roots the equation has. (Do not solve the equations.)

40.. x2-6x+2--O 41.5n2+3n+7 -_ O 42. -2t2+4t-2:0
43.3k2-t.zk.+ 1.1:0 44.3s2+6s+3:0 45. +b'z-b-3:o
Without drawing the graph of the given equation, determine (a) how many (12-4)

x-intercepts the parabola has, and (b) whether its vertex lies above, below, or
on the x-axis.

46.y:3x2+2x-5 47.y:-6*3x-Lxz 48.):x2-4x+16

Solve each equation by the most appropriate method. Write irrational (12-5)

answers in simplest radical form.

49.x2*7x*12:o
51. 5x2 - 9x: 0
53.x2*8-r*3:0
55. 6x2 -l 4x: I

s7.]x2-?*:t
59. 1.2x2 - O.4x:0.2
61.4x(x-2)+ 3(x+ 8) :27-t 5x2 62. (x + 6)2 + 2@- l): 13

50. l3x2 : 52
52. 3xz - llx: 2

54. (x-3)2:6
(r * 4\256' 3 :8

ss.+:+
60.#:#
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